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Instructions for Candidates 

1. Write your Roll No. on the top immediately on receipt of this question paper. 

2. Attempt all questions. 

3. Marks ar~ indicated against each question. 

4. Attempt all parts of a question together. 

5. Simple calculator is allowed:- Log and annuity tables may be provided on demand. 

6: Answers may be written in Hindi or English but the s~me medium should be 
followed throughout the paper. 
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PART-A ('itm en) 

1_. (a) "Investment, Financing & Dividend decisions are all interrelated." Explain. 

(10) 
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(b) What is ·the present value of cash flows of Rs. 1,26,000 per year forever; 

.(i) at an interest (ate of 12%, · 
.·,• -·. 

(ii) at an interest rate of 15% ? {5) 

OR 

(a) "The financial goal for a firm should be to maximize profit & not wealth". Do 
. 

you·:<:tgtee with the statement ? Give your comments. (10) 

(b) If Raman deposited Rs. 55,650 in a bank, which was paying interest @15% 

on a fixed deposit for 10 years, how much will he get back at the end of 
·. 

. t~n years? (5) 

(i) 12% ~ ~ tR 

(ii) 15% ~ ~ tR 

(Cfi) "~ 1:fill CfiT ~ ~ ~ CfiT ~ ~ m;:u ~ ~ fit ~ "CfiT I" CflfT 

_ 3lftf· ~~ -«·~ ~? m- (lcqfUI4i ~I 
., . . :. ,::..fZ';~~ ~· .. . . 

(~) ~ ~ ~ ~ ~ 55,650 ~. ·'iPIT CfimfT t .lilT fcfi 15% ~ .Cflt ~ ~ -« 10 

Cftf ?t ~ -~ ~ tR ~ ~ t~m ~ ~ ~ ~M tR ~ ~ ~ 

~?. 

PART-B (~ <:er} 

2. (a) Talash Ltd. requires an initial investment of Rs. 70,000. The estimated net 

cash flows are given below : 

! 
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Year ·.Net Cash Flows (Rs.) 

1 8,000 

2 8,000 

3 8,000 

4 11,000 
. 5 16,000 

6 20,000 

7 18,000 

8 15,000 

9. 10,000 

. . . 
Using 12%· cost of capital, determine, .. 

(i) Pay back period 

(ii) Net Pres~nt Value 

PVF 12% for 10 years are: 

0.893,.0.797, 0.712, 0.636, 0.567, 0.507, 0.452, 0.404, 0.36.1, 0.322 

(10) 

(b) "Th_e pay back period is more a method of liquidity rate th:an profitability", 

examine the statement and explain the pay-back period me!~od of capital 
budgeting. · · (5) 

... 

OR 

XYZ Ltd. whose cost of capital is 12% is considering two projects A&B. The 

following data are available : 

Investment 

Cash Flows Year 1 .. 

Year 2 

Year 3 

- Yea.r4 ; 
-. 

Year 5 

--;' ~ ... 

. . -.__. - . 

- Project A Project B 

(Rs.) (Rs.) 
-

1,49,000 1,40,000 

20,000. - 1,00,000 

40,000 80,000 

60,000 40,000 

.. ~/;~ •. 09,000- . 20,000 . 

1,10,000 - .. 20,000 

3,30,000 2,60,000 

P.TO . 

... .. -
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Select the most su_itable project by using the following me_thods : 

(i) Pay Back period 

(ii) Net Present Value 

(iii) Profitability Index (15) 

(Cfi) '~ ~~2s' ~ 70,000~~. -cfi" ~ ~ ·cfit 3tiC4:t4Cfiol t 1 3i:puf.\o f.rcR;r 
"UCfis- WlT6 ~ ~ \iiT ~ t : ~ --:· ·- . . 

.. 
qtf· ·~~ WlT6 

1 

2 

3 

4 

5 
< 

6 

7 

8 

9 

__ ( i) cwm CfiR ctT 3rou 

(ii)~~-~ 

10 cricK~ PVF 12% ~ t: 

8,000 

8,000 

8,000 

11,000 

16,000 

20,000 

18,000 

15,000 

10,000 

(~.) 
.;.:~~:~ 

0.893, 0.797, 0.712, 0.636, 0.567, 0.507, 0.452, 0.404, 0.361, 0.322 

(~) "cwm cn-R -ctTI _alCrlU" ~ ~ ~-Gt 3rlUCfi t -., fcfi ~ ctt ~ Cfi?.R -ctTI 

\Jil:q ~ ~ ifulT-~ ~ Cfi"!Rf CfiR "ctt 3{qfu fcm:r ~ ClfRCZIT ~ I 
~ . . 

XYZ fclfi\2s, ~{\iii ctTI'RT110 12%t m 4R~Il1"'113U- A~ B,'tR~cn(«<Tt I 
Hkil"clRcm ~ -~ i : 
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~ 

~ 1 qrr ~ Wll6 

~2Cfif 

~3Cfif 

~4Cfif 

~5Cfif 

{i) ~ ~ ~ 31crlU 

(ii) ~~~ 

(iii) 

5 

.. 

-

qRm\it"'11 A qfNI\it~l B 

(~) -. J.,-~1 

1,40,000 1,40,000 

20,000 1,00,000 

40,000 80,000 

. 60,-QOO 40,000 

1,00,000 . 20,000 

1,10,000 
.- ... 

. 20,000 

3,30,000 2,60,000 

3. (a) "Cost of retained earnings is same as cost "Of equity". Comment. (5) 

·(b)· The sales of a firm is Rs. 5,00,000. The variab~e-costs.are 30% qf sales and 

fixed operating costs are Rs. 2,00,000. Irtterest on debentures is 15% on 

the amount of Rs. s,oo;ooo. Compute; 

(i) the combined leverage, 

(ii) effect on combined leverag-e if the sales, i!lcrease by 20°ir? (10) 

OR 

(a) Briefly explain the factors which influence the planning of capital structure in 

a business enterprise. (5) 

(b) A Company's curre-nt operating income (EBIT) is Rs. 4 lakhs. The firms has 

Rs. 10 lakhs of 10% debt outstanding. If the cost of equity capital is estimated 

to be_15%; _ 

PTO. 

.·· ·'·. 
~-~~ .-;. ~ ..:.:·- -. 
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(i)- Determine the current value of the firm using traditional vafuation 

·approach. 

(ii) Calculate the firm's overall capitalization rate. (10) 

. ((q) ~-xn*ctT~5,00,000~~tl~~~~ctt30%~~~~ 

m1ffi 2,00,000 ~.~I ~~~()·lR GiQJ'ijf; 8,00,000 ~. ctl' ~ lR 15% t I ~­

~:,: 

(i)~~ 

. (ii) ~~lR"SI'Wf~~ 70%~~t? 

(q)) -ffelq- ~ ~ -~ ctt aman ~ ~ oqq~l4 ~ ~-~ ~ c?i ~til. 
w~:nf~~Pfit8" ~ 7 

((Cf) ~~ctt~~3ll4' (EBIT) 4_~~.t l~lR 10"Rrof~.Cfif 10%"3UR 

GfCfiTliT t ·I ~ ~ ~ ctl ~ CfiT ~ 15% t "ffl :. 

(i) q(q(l~ld \~iCfi~ ~ Cfif_ wmr ~-~ c?i "'iffii·~ CfiT -~ ~ I 

(ii) ~ ~ ·~ t\JllCfi(OJ ~ CfiT qftcn('1'1 ~ I 

PART- C ('mll "IT) 

4. (a) . Explain different types of dividend "P?licy which a ?rm ~an adopt. (5) 
·~ ... .-. ~,.. : ..... -7·- ' ~ .. 

(b) A firm's earnings per share is Rs. 80. The cost of equity is 15%. The rate 

of return on ·investment is 10%. What will be the market price ofthe firm's 

sh~re accprding to Walter's model if dividen~ pay-out ratio is 25%, 50% 

and 100%. (10) 

.oR 

(a) Explain Walter's dividend Model. (5) 

. ;.-. 

1 

·'· 
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(b) The following information is available for ABC Ltd; 

Rate of Return on Investment (r) 

Cost of Capital 

Earning per share 

= 15% 

= 12% 

= Rs. 10 

Determine the value of its shares using Gordon's~Mod~l assuming .. the 
following : . .· -~~-- .-~ · · · .. 

(i) DR Ratio= 100% . 

(ii) DP Ratio = 80% 

(iii) DP Ratio = 40% . (10). 

(~) ~ ~ Cfil 80·~. ma ~q\t 3ll1J WI~ cfat~ 15% ~I~ Gt ~ 

cfit~ l0%~1~-~cfi~~~iF:RCfit~.·:'i~C$-~.~~ 
~ cfiT ~ 25%, 50% 31\( 100% w ? 

{Cfi) ~ cfi ~ ~ ctt C'i!1Rttrr ~-· 

{~) ABC ~-!il2s cfi ~ f.l+Oi~f{qa ~ ~ ~ : 

~ "R Sl~lfiZ"' ciat Gt ( r) 

~~-~-

m iF:R 3Wf. 

15% 

= 12% 

= 10% 

Pl+Oi~l{qa_ctil ~ ~~-Cfir m_~ ~ m CfiT ~ ~ ~: 

(i) DP ~ = 100% 

(ii) DP ~ .= 80% 

:·(iii) DP ~ =40% 

P. T.O. 

·.~ .. -.: ~· 
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5. What do you mean by working capital management ? Describe the various factors 

that affect working capital requirements of a company ?": :; ( 15) 

-oR 

Explain the following : 

(i) EQQ Model -

(ii) Baumol's Model ofCash Management (7Y2+7Yz) 

Chr4i!rw'tlAGiu ~ anq-~ ~ ~ ? ~ ~ Cfir4:c;m+1 ~M:t~Char3H cot~~~ 

~ Cfi"RCfiT 'CfiT ~ ~ I 

(i) EOQ +iffi;r 

(ii) ~'~ 'CfiT ~ ~ 

~;~~~' --
~~·- -
- (200) 

- ------~~-----------------------
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